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��� �������� $%+,1$1'�7�6$-, +LQGX�6& � �������

��� �������� 3$59$7+,�&�6 +LQGX�6& � �������

��� �������� *23,.$�6 +LQGX�(:6 � ������� :LWKKHOG

��� �������� 1$,5�$.+,/$�685(6+ +LQGX�*HQHUDO � �������

��� �������� -$1$.,
6$0((5$%+$'5$ +LQGX�2%+ � �������

��� �������� ',/1$�',/((3 +LQGX�6& � �������

��� �������� $$'+,/�6$/,0 ,VODP�0XVOLP � �������

��� �������� 6+((7+$/�5$7+((6+ +LQGX�6& � �������

��� �������� $6+1$�1�1 ,VODP�0XVOLP � �������

��� �������� '((3(1'8�7�5 +LQGX�6& � �������

��� �������� 1$-,<$3$59((1 ,VODP�0XVOLP � �������



����������������������RI���

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

��� �������� 6$5,6+.80$5�6 +LQGX�2%+ � �������

��� �������� $1-$/<�6$%8 &KULVWLDQ�2%; � �������

��� �������� $122-�3�9 +LQGX�6& � �������

��� �������� $%,6+$�%(11< &KULVWLDQ�/DWLQ � �������

��� �������� 0$5,$�9$5*+(6( &KULVWLDQ�*HQHUDO � �������

��� �������� 08+$00('�68+$,/ ,VODP�0XVOLP � �������

��� �������� %/(66<�.�6 &KULVWLDQ�*HQHUDO � �������

��� �������� 35$9((1$�3�3 +LQGX�2%+ � �������

��� �������� +$56+$1�9�3 +LQGX�*HQHUDO � �������

��� �������� 9<6$.+�&+$1'5$1 +LQGX�6& � �������

��� �������� %,1'8�.�1 +LQGX�(]KDYD � �������

��� �������� 0(*+$1$�3�9 +LQGX�6& � �������

��� �������� $05,7+(6+�1�* +LQGX�2%+ � �������



�����������������������RI���

(/,*,%,/,7<�/,67
06FB$QDOyWLFDO&KHP������������

(]KDYD��(=�

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� 6$1'5$�3 +LQGX�(]KDYD � �������

� �������� 6$17+:$1$�1�. +LQGX�(]KDYD � �������

� �������� $1865((�$ +LQGX�(]KDYD � �������

� �������� '(9,.5,6+1$�% +LQGX�(]KDYD � �������

� �������� 0$/$9,.$�&�6 +LQGX�(]KDYD � �������

� �������� +5,',.$�0 +LQGX�(]KDYD � �������

� �������� $5&+$1$�6+,%8 +LQGX�(]KDYD � �������

� �������� $-$1<$�7�3 +LQGX�(]KDYD � �������

� �������� 1$1'$1$�5 +LQGX�(]KDYD � �������

�� �������� $',7+<$�/$/8 +LQGX�(]KDYD � �������

�� �������� 65((-,6+$�9�6 +LQGX�(]KDYD � �������

�� �������� +$5,&+$1'$1$�6 +LQGX�(]KDYD � �������

�� �������� $7+,5$�.�* +LQGX�(]KDYD � �������

�� �������� 1$.6+$7+5$�&�6 +LQGX�(]KDYD � �������

�� �������� 6,9$35,<$�6 +LQGX�(]KDYD � �������

�� �������� $1-$1$�9�0$1, +LQGX�(]KDYD � �������

�� �������� -,6+1$�3 +LQGX�(]KDYD � �������

�� �������� *$<$7+5,�6+$-, +LQGX�(]KDYD � �������

�� �������� *$<$7+5<�68'+((5�9 +LQGX�(]KDYD � �������

�� �������� $1865((�7 +LQGX�(]KDYD � �������

�� �������� 61,*'+$�6�-((9$1 +LQGX�(]KDYD � �������

�� �������� 65((1$1'$�6 +LQGX�(]KDYD � �������



�����������������������RI���

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

�� �������� $.6+$<�0 +LQGX�(]KDYD � �������

�� �������� $1$1'8�. +LQGX�(]KDYD � �������

�� �������� 322-$�1�0 +LQGX�(]KDYD � �������

�� �������� 322-$�9,-$< +LQGX�(]KDYD � �������

�� �������� +$5,35,<$�6 +LQGX�(]KDYD � �������

�� �������� $1,35,<$�3�3 +LQGX�(]KDYD � �������

�� �������� 1$1'$1$�6+$-, +LQGX�(]KDYD � �������

�� �������� $1-,0$�3�3 +LQGX�(]KDYD � �������

�� �������� $1$*+$�6$6, +LQGX�(]KDYD � �������

�� �������� '(9,�.5,6+1$�.�5 +LQGX�(]KDYD � �������

�� �������� 1$1'$1$�9�. +LQGX�(]KDYD � �������

�� �������� $9$17+,.$�$ +LQGX�(]KDYD � �������

�� �������� 1$1'$1$�6 +LQGX�(]KDYD � �������

�� �������� $1$*+$�. +LQGX�(]KDYD � �������

�� �������� 6:$7+<�&�6,9$'$6 +LQGX�(]KDYD � �������

�� �������� '(9,.$�.�6 +LQGX�(]KDYD � �������

�� �������� $,6:$5<$�085$/, +LQGX�(]KDYD � �������

�� �������� $1865((�9 +LQGX�(]KDYD � �������

�� �������� $6:,1���9 +LQGX�(]KDYD � �������

�� �������� *2:5,/$.6+0,�$�6 +LQGX�(]KDYD � �������

�� �������� $1-$1$�$�6 +LQGX�(]KDYD � �������

�� �������� 0,'+81$�1�9 +LQGX�(]KDYD � �������

�� �������� $1$*+$�02/ +LQGX�(]KDYD � �������

�� �������� $6:$7+<�.�1 +LQGX�(]KDYD � �������

�� �������� 6$1-$<�9,18 +LQGX�(]KDYD � �������

�� �������� $',7+<$�3 +LQGX�(]KDYD � �������

�� �������� $5&+$1$�35$6$' +LQGX�(]KDYD � �������

�� �������� /$.6+0,�5$0(6+ +LQGX�(]KDYD � �������

�� �������� *23,.$�3�3 +LQGX�(]KDYD � �������

�� �������� $3$51$�$% +LQGX�(]KDYD � �������



�����������������������RI���

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

�� �������� %,1'8�.�1 +LQGX�(]KDYD � �������



�����������������������RI���

(/,*,%,/,7<�/,67
06FB$QDOyWLFDO&KHP������������

0XVOLP��08�

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� )$7+,0$�&$ ,VODP�0XVOLP � �������

� �������� )$+,0$�$�0 ,VODP�0XVOLP � �������

� �������� -80$1$�$�0 ,VODP�0XVOLP � �������

� �������� 6+<%$6�.+$1�0�0 ,VODP�0XVOLP � �������

� �������� +$11$�)$7+,0$�3�3 ,VODP�0XVOLP � �������

� �������� 0$+6220$�$%22%$&.(5 ,VODP�0XVOLP � �������

� �������� =80$,/$7+�68580,�$�0 ,VODP�0XVOLP � �������

� �������� -(11$7+�5$+((0 ,VODP�0XVOLP � �������

� �������� $0((1$�02+$00('
6+22-$ ,VODP�0XVOLP � �������

�� �������� )$56$1$�6$/,0 ,VODP�0XVOLP � �������

�� �������� 6+$%1$�$/, ,VODP�0XVOLP � �������

�� �������� $6+5$�6+(5,1��(�$ ,VODP�0XVOLP � �������

�� �������� +$61$ ,VODP�0XVOLP � �������

�� �������� 5,16+$�9�+ ,VODP�0XVOLP � �������

�� �������� 68+$1$�6+(5,1�9�3 ,VODP�0XVOLP � �������

�� �������� 6+,)$1$�.�6 ,VODP�0XVOLP � �������

�� �������� %,/$/�%$6+((5 ,VODP�0XVOLP � �������

�� �������� 0,16$�0�1$=((5 ,VODP�0XVOLP � �������

�� �������� ),'+$�$)6$/ ,VODP�0XVOLP � �������

�� �������� 5$6+$�)$56$1$ ,VODP�0XVOLP � �������

�� �������� +$1,<$�&�$ ,VODP�0XVOLP � �������

�� �������� $)1$02/�&�1 ,VODP�0XVOLP � �������



�����������������������RI���

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

�� �������� $<,6+$�/$%((%$�9�, ,VODP�0XVOLP � �������

�� �������� ',/6+$1$�1�. ,VODP�0XVOLP � �������

�� �������� .+$'((-$�5226+,1�3�0 ,VODP�0XVOLP � �������

�� �������� 1,6+$�3�1 ,VODP�0XVOLP � �������

�� �������� %$/,+�$ ,VODP�0XVOLP � �������

�� �������� $%((6+$�$16$5 ,VODP�0XVOLP � �������

�� �������� $61$�1 ,VODP�0XVOLP � �������

�� �������� $0((1$�,%5$+,0 ,VODP�0XVOLP � �������

�� �������� 1$'+,<$�3$59((1��3�9 ,VODP�0XVOLP � �������

�� �������� $%'8/�)$,=$/ ,VODP�0XVOLP � �������

�� �������� +,%$�(. ,VODP�0XVOLP � �������

�� �������� +$0'$��$�3 ,VODP�0XVOLP � �������

�� �������� )$7+,0$�5$)$�7�. ,VODP�0XVOLP � �������

�� �������� )$<,6$�<86$) ,VODP�0XVOLP � �������

�� �������� 18.6$�(�1 ,VODP�0XVOLP � �������

�� �������� 08+$00('�$6/$0�.�$ ,VODP�0XVOLP � �������

�� �������� 5,6+$1$�&�5 ,VODP�0XVOLP � �������

�� �������� 1$-,/�5$+0$1�. ,VODP�0XVOLP � �������

�� �������� $1((6+$�1$65,1�3�6 ,VODP�0XVOLP � �������

�� �������� 08-((%�5$+0$1�7�$ ,VODP�0XVOLP � �������

�� �������� $$'+,/�6$/,0 ,VODP�0XVOLP � �������

�� �������� $6+1$�1�1 ,VODP�0XVOLP � �������

�� �������� 1$-,<$3$59((1 ,VODP�0XVOLP � �������

�� �������� 08+$00('�68+$,/ ,VODP�0XVOLP � �������



�����������������������RI���
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/DWLQ��/1�

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� $16$�$1721< &KULVWLDQ�/DWLQ � �������

� �������� 1,50$/�35,1&( &KULVWLDQ�/DWLQ � �������

� �������� (0<�0$5,$ &KULVWLDQ�/DWLQ � �������

� �������� /(21�$- &KULVWLDQ�/DWLQ � �������

� �������� 1,<$�3$8/ &KULVWLDQ�/DWLQ � �������

� �������� 621$�+(15< &KULVWLDQ�/DWLQ � �������

� �������� 0$5<�/,<$�.��0� &KULVWLDQ�/DWLQ � �������

� �������� -,0&<�$1721<��0��$ &KULVWLDQ�/DWLQ � �������

� �������� '+$<$�$1721< &KULVWLDQ�/DWLQ � �������

�� �������� 6$1$�526(�0$5,$�9�0 &KULVWLDQ�/DWLQ � �������

�� �������� 526(%(1�3$8/621 &KULVWLDQ�/DWLQ � �������

�� �������� $%,6+$�%(11< &KULVWLDQ�/DWLQ � �������



�����������������������RI���
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6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� 9<6+1$9<�1�% +LQGX�2%+ � �������

� �������� $1865((�$1,/ +LQGX�2%+ � �������

� �������� 322-$�35(0�3 +LQGX�2%+ � �������

� �������� '(9,.$�0 +LQGX�2%+ � �������

� �������� 35,<(1'+8�9 +LQGX�2%+ � �������

� �������� 9<6+1$9,�$-,7+ +LQGX�2%+ � �������

� �������� $%+,5$0,�.�5 +LQGX�2%+ � �������

� �������� 80$�5 +LQGX�2%+ � �������

� �������� 6:$7+<�.�6 +LQGX�2%+ � �������

�� �������� $581,0$�6 +LQGX�2%+ � �������

�� �������� $0587+$�3 +LQGX�2%+ � �������

�� �������� 0(*+$�9 +LQGX�2%+ � �������

�� �������� 87+$5$�. +LQGX�2%+ � �������

�� �������� .�$�$3$51$ +LQGX�2%+ � �������

�� �������� $05,7+$�6�5$- +LQGX�2%+ � �������

�� �������� $/,6+$�6$1.$5�6 +LQGX�2%+ � �������

�� �������� %+$*<$/$.6+0,�$�- +LQGX�2%+ � �������

�� �������� 1$1'$1$�6$-((9 +LQGX�2%+ � �������

�� �������� -,6+18�-$<$1 +LQGX�2%+ � �������

�� �������� 65((/$.6+0,�0* +LQGX�2%+ � �������

�� �������� $.6+$5$�$�9 +LQGX�2%+ � �������

�� �������� 0$+,0$�0$12- +LQGX�2%+ � �������



�����������������������RI���

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

�� �������� $1,58'+�0�3 +LQGX�2%+ � �������

�� �������� 35$1$9�35$'((3 +LQGX�2%+ � �������

�� �������� $1-$1$�.�$ +LQGX�2%+ � �������

�� �������� 5(9$7+,�3 +LQGX�2%+ � �������

�� �������� $1-,0$�. +LQGX�2%+ � �������

�� �������� &+$1'$1$�7�5$-(6+ +LQGX�2%+ � �������

�� �������� 3$59$1$'(9�. +LQGX�2%+ � �������

�� �������� $1$*+$�3 +LQGX�2%+ � �������

�� �������� /(.+$1$���0 +LQGX�2%+ � �������

�� �������� 1$1',1,�3 +LQGX�2%+ � �������

�� �������� $3$51$�-$<$35$.$6+ +LQGX�2%+ � �������

�� �������� 6,'+$57+�7�6 +LQGX�2%+ � �������

�� �������� $',7+<$�811, +LQGX�2%+ � �������

�� �������� $1$1<$�6$6,.80$5 +LQGX�2%+ � �������

�� �������� 65((/$.6+0,�(�6 +LQGX�2%+ � �������

�� �������� +(11$�6�35$'((3 +LQGX�2%+ � �������

�� �������� 5$%,-,7+�5$9((1'5$1 +LQGX�2%+ � �������

�� �������� -$1$.,�6$0((5$%+$'5$ +LQGX�2%+ � �������

�� �������� 6$5,6+.80$5�6 +LQGX�2%+ � �������

�� �������� 35$9((1$�3�3 +LQGX�2%+ � �������

�� �������� $05,7+(6+�1�* +LQGX�2%+ � �������
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6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� 6$1,$�-26(3+ &KULVWLDQ�2%; � �������

� �������� '+,<$�'(11< &KULVWLDQ�2%; � �������

� �������� 0$5<�/,<$�$�- &KULVWLDQ�2%; � �������

� �������� (/,=$%(7+�$/((1$�0�0 &KULVWLDQ�2%; � �������

� �������� (/,=$%$7+�/,<$�-2%< &KULVWLDQ�2%; � �������

� �������� %,<$�%(/6+,$�/$1./,1�. &KULVWLDQ�2%; � �������

� �������� $1-$/<�6$%8 &KULVWLDQ�2%; � �������
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(:6��(:6�

6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� $*1(6�*(25*( &KULVWLDQ�(:6 � �������

� �������� $,6:$5<$�0�7 +LQGX�(:6 � �������

� �������� 6835,<$�68.80$5$1 +LQGX�(:6 � �������

� �������� 1$1'$1$�&+$1'5$1�7 +LQGX�(:6 � �������

� �������� 6$1'5$�0 +LQGX�(:6 � �������

� �������� 1$1'$1$�+$5,68'+$1 +LQGX�(:6 � �������

� �������� $%+,-,7+�0' +LQGX�(:6 � �������

� �������� 0((5$�0$12- +LQGX�(:6 � �������

� �������� %(6(17�*(25*( &KULVWLDQ�(:6 � �������

�� �������� $0587+(6+�3 +LQGX�(:6 � �������

�� �������� $5$9,1'+�13 +LQGX�(:6 � �������

�� �������� $7+((1$�5$1620�$58-$ &KULVWLDQ�(:6 � �������

�� �������� $11�0$5<�%(11< &KULVWLDQ�(:6 � �������

�� �������� $1$*+$�0 +LQGX�(:6 � �������

�� �������� 9,6+1835,<$ +LQGX�(:6 � �������

�� �������� 65((1$1'$1$�3�6 +LQGX�(:6 � �������

�� �������� +$5,7+$�9 +LQGX�(:6 � �������

�� �������� .5,6+1$35,<$�.�0 +LQGX�(:6 � �������

�� �������� *$<$7+5,�2�- +LQGX�(:6 � �������

�� �������� $9$17+,.$�9 +LQGX�(:6 � �������

�� �������� *23,.$�6 +LQGX�(:6 � ������� :LWKKHOG
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6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� *23,.$�6$6((1'5$1 +LQGX�6& � �������

� �������� *2.8/�.5,6+1$�3�9 +LQGX�6& � �������

� �������� 5$1-$1$�$�7 +LQGX�6& � �������

� �������� 6$1'5$�38/,..$/ +LQGX�6& � �������

� �������� $5<$�.�5 +LQGX�6& � �������

� �������� $520$/�%�6 +LQGX�6& � �������

� �������� 6:$7+<�%$%8 +LQGX�6& � �������

� �������� $%+,1$1'�7�6$-, +LQGX�6& � �������

� �������� 3$59$7+,�&�6 +LQGX�6& � �������

�� �������� ',/1$�',/((3 +LQGX�6& � �������

�� �������� 6+((7+$/�5$7+((6+ +LQGX�6& � �������

�� �������� '((3(1'8�7�5 +LQGX�6& � �������

�� �������� $122-�3�9 +LQGX�6& � �������

�� �������� 9<6$.+�&+$1'5$1 +LQGX�6& � �������

�� �������� 0(*+$1$�3�9 +LQGX�6& � �������
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� �������� $3$51$�9�5$- +LQGX�67 � �������
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6O�QR� $SSOQ�1R 1DPH &DWHJRU\ 2SWLRQ ,QGH[ 5HPDUNV 0DLQ

� �������� 65((/$.6+0,�0* +LQGX�2%+ � �������

� �������� 0$+,0$�0$12- +LQGX�2%+ � �������

� �������� &+$1'$1$�7�5$-(6+ +LQGX�2%+ � �������

� �������� $',7+<$�811, +LQGX�2%+ � �������
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